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YOou See

a(WHEESHT) + e(lA, VIRGIN) = WEST VIRGINIA
d(KNEW) + b(KROY) = NEW YORK
c(HIPE, 4) * d(WEAR) = DELAWARE

e(A, c(UFUME, 20)) =
a(a(0OAK)) * d(HIGH) * c(l, 20) = A
e(b(SAX), a(THEN)) = ¢

a(c(BUALHJO, 7)) =Q

= solution

Puzzle code:
vyCVvVweEGFcLNLB28

This puzzle is part of the puzzle hunt Pandora of L.C.T.S.\V. Inter-Actief that exclusively takes place
from 9 may through 13 may. Please leave the puzzle in this exact spot. It will be removed by the

organisation after the event. For more questions refer to www.iapandora.nl or call +31 6 17752939



